SUE=ISIATURS LA
SPECIFICATIONS -
GUIDE

@.

SL74

!

LAKE ENGIEERNG 00 L\M |3

- ‘ 23MANVILLE RD SCARBOROUGH ONTARIO

| ‘.
u “ \ +
i\’ ", 8 ‘
F‘A ' i ) ;
“mumwgfﬂw«. IR
v i

13, R NI ; .
L a0 . W %, E
P fd b ak T
: , i -
’-"







[SUBMINIATURE _LAMP SPECIFICATIONS GUIDE —|

¢ sotore lomps ore designed to meet requirements foe extremely small size, exira long lifo and low cosls. Lamps are grouped in this Guide by bulb sizes sing
:ﬁhi:‘:’e‘:ﬂm:‘e‘x?ﬂg 135615?9"‘ vf.?lh un ascending rder within tho size group. For casy rofeeonco the NUMERICAL INDEX at rear of this Guide lists the lamps 10

numericol sequenco.

o P INRUSH CURRENT
AG:!:::‘:?;:E:':C?‘:SP:‘:}:‘: : primary tmpartance, Lake lomps aro Aged ond Tho initial current through a cald fllament which can be os much o 10 w12
—  galected, All T=3/4 and 1-1lomps ore aged o minimum of 10 hours then in- Vimes grecter than normal operaling current, As reslstance couses the filoment
dividuolly measured for candlepower. T-1-1/4, 1-1-1/2 and T-1-3/4 lomps temperolure to rise, Taruth current docreases. [nrush current can be reduced
ore Aged end Selected to specific customer requirements. by wsing 0 low volue of pre=heat voltoge, and 1t an Important comlderation
when lamps are 1o be uted in @ flathing or pulsating display.
";!%Eﬁne provides eloctricol contoct ond sypport for the lamp. Unbesed lamp LAMP IDENTIFICATION
leads ore dumel wire. 1-3/4 ord T=1 lamp leads aro tin-ploted for solder- Lamps cre r:orrnu"y Tdentified by en Industry Standed number isssed and con-
cbility. trofled by tho United States American Natigngl Standords Institute A N.5.1.}
Where a lemp has been designed for a spoctal application it wdl uwe the erl-
BULB ginal manufacturer’s sumber until an A.N, 5.1, has been ossigned
The bulb i3 the glass envelops which housos the lomp fllament assembly ond
contalns the vocuum of gas. A fetter and number identifies bulb shape and LAMP LIFE
appraximate bulb dicmeter tn cighths of an Tnch. Rated overage Iife (s that cbtained in closely contrelled laberatory testing of
lamps on &0 Hettz altemaning current at their design voltoge. Very long life
CAMDLEPOWER lomps ere generally rated on the basts of extropolated leborstory test dato.
W&nﬂlemwr (M5CP) is the volue of alamp's tatal integroted Service conditions such as shock ,vibration, voltoge flyctuations, temperature,
brightness as measured in o photometrie sphere. This level depends on the otc. may contributo to a shorter average life.
lamps electrical poromeless ond the envelope size,  All standard lamgs ore
tested by photometers vsing lomp stendards tracechle fo tho Natienol Bureau Ordinorily for still-rack operation, noemal tungsten filoment evaporation {s
af Standards, (For conversion of MSCP to lumens, multiply the MSCP x 12 57.) the basic force ormechanism controlling incandascent lomp 1ife, Where normal
filament evaperation is the d t failure hanism, lamps should reach
COLORED LAMPS thelr destgn-predicted lifetlmes.
STgnel ond Specification colors cre coated directly onto the glass bulb and
are avcaloble on all bosed ond unbased lomps listed in this catoleg. $ignol In recent years anather life=influencing lomp filoment machenism hos bocome
colors include amber, red, green and blue. Spectfication coloes for Instru= more peominent, This Is commonly referred ta os “filoment naotching”, 1b
ment lighting include red (MIL-L-25467) and blue-white (MIL-1=27160) for prominenco is due o ot Inost three foctors, primarily euoclated with mb-
white I1ght celor catrection. Color matching 1o customer requirement is clso minicture type lomps.
ovoilable.
1.  Low temperature filament operation, less than that for signiflcant nor=
DESIGN AMPERAGE mal tungsten evaporation. (Long life lomp designs, such as 10,000,
ThTTs The octual current flowing through the filoment ot rated woltege. 25,000, 50,000 and 100,000 hour destgns. This does not apply to fila-
ment temperatures below 1600°C.)
DESIGN VOLTAGE
This 15 tho operaling veltoge for which o lamp is designed. In certain coies 2. Small filoment wire sizes, less than ane mil {,001") diometer in many
the industry hes medified the orlginal design voltage. For example, Type 328 cases.
——was originally designed for 5,0 volts, Indusiry now rotes it at 6.0 volts, but
STl coleulates beightness at 5.0 volts. Obviously, this change in voltage 3, Inercased use of D.C. voltage opcrotion (generally resulting from ad-
W rating also affects gmperage and MSCP specifications ot 6.0 volts. Ower- vances 1n solid state techralogy.)
roting and underrating should be considered when special requirements gre
needed. Natching is the appearance of step-like o sawtooth frregularities, cppearing
on cll or part of the tungsten fHlement surfoce, ofter some burming. These
FILAMENT notches epduce the filament wire diameter of various points, In some cases,
The filament 15 the light emitting portion of tho lamp, A prafix [etter Tndi- especially in fine wire dicmaler lamps, the notching s 1o severe as to almost
cotes whather the wire is streight (5, colled (C) or eniled-coil (CChand o penotrate the ontirs wire diameter, Thus accelerated spet evaporation dua to
number designates the goometric configuration of the fllament wpport wires., thismatching {os woll asreduced filament strengih}, now becomes the dominont
mechanism for influeneing lamp hfe. Becovseof its ohnermal evaporaticn end/
FILAMENT DISTRIBUTION or redueed strength effects, lamp lifelimes due to natching may bo cae-half
Considerationof fil T aclentation should not bo overlocked te galn mowa= or less of so colled ordinary or normal, predicted lamg lifatimes,
mum effictency from o lomp.  The drowings balow illusteate thae output from
an unsupported coil filoment, Nete that a reduction of 1ight output oecurs LAMP RERATING
when ono filament strond is hidden by the other. A reduction may clso be Flockically,subminioture lamps ore dynamie devices. Candlepawer, cument
noted in the orea of the lead-in wires. Adding g bose to o lamp wil! raduce ond life may be veried for all subminiature lomps by opcrating the lomps ot
the M5CP by oppreximately 10%. ?wa llhcn design voltoge. Rerating may be aecomplished by tho following
ormulac

RERATED M,5.C.P. =

( v ) 3.5 XM.S.C.P.AT
V7. DESIGN VOLTS
RERATED LIFE =

(_g_) 12y U AT
v DESIGN VOLTS
RERATED CURRENT =
( V) ) .55 xcuaaﬁwr AT
7 DESIGN VOLTS
v = APPLICATION VOLTAGE
V1 = DESIGN VOLTAGE

LAMP SPECIFICATIONS

FLASHING AND PULSATING At peesent th i i i
ore Militory 5 ficoti
There 15 no naticeoble sacrifice in the life of sub-miniature lomps used in 2t s el late i derongmor ak:

Although these specificoti tuchl i
fleshingand pulsating lomp eireuits as longas the inrush eurrent Ts considered - et e s s

are sat rigid enough te guerentee a highquality lomp, Therafore, LAKE spec-
- and {1ght cutput does nat exceed thot of the steody burning position. ficatlons may greatly exceed the Military Speciﬁc:ﬂm drawm;;:. g

HeAT A s e s np QL Qoo Drdue L) L Sy o

[ '

: ps vy soten and deform, e basing  though one s cumently beng developed by

cenentnay e, xoved s oy ookt loven e s el i oty e guenne, et LA
iy y gusenvlope kel ons o heaplctl ML Spc stng ot they propely ol

to dsign ad manulache,




e ———

| SUBMINIATURE LAMP SPECIFICATIONS

GUIDE

—

_

LIGHT CENTER LENGTH

Light center length 1y the averoge measyrement for whichthe lomp s detigned
and 13 whpect to nemenal marefeciuring rolerances, 11 1s megured from the
geomettic centrr of the light source to o particular pount of the base. This
point 13 shawn below for the bese types used in wh=minioture lamps

Bi=Pin - Bottom of Bose

flonged = Teop of Flenge

Grooved - Center of greave

Serew = End of bostom base contact

Wire Terming! = Mot specified

MAXIMUM OVERALL LENGTH (MOL})
Maoxumym overall Tength 5 The Targest total lengih which tho lomp or the lomp
and base will not exceed,

OPERATING TEMPERATURE

The platt uted in malking stendard bulbs for minfoture lomgs will ovigos when
the surface tempercture excoeds 300°F, Coutien thould be exercised to pro-
vide odequate heot removal through radistion, conduction and ee convechon,
The leads of o lamp providea poth for conducting heat, The mass of the lerm—
inal points where the lomp is connected should be adequate to provide o heat
sink and 1he wiring leading from the connection points should be large engugh
to carry oway this heot,

RISE TIME
By varying filament wire dicmeter, coil siza and stacing as woll ax voliege
ond current, the riso time of & minioture lemp may be veried from 10 1o 200
millizeesnds from cald to operating brightness,

Modulation of a lamp filament 1 Possible within certoin denign limats, The
vise time moy bo aceelerated by vio of @ wove form with @ high voltage front
phased 1n fime o reduco 1o dengn lovel when the filament roaches design
tempercture

SHOCK AND VIBRATION

Miniature lomps vory greatly i their ability 10 operote under conditions of
shack and vibration The terule strength of tungsten (s 10 times grecter when
cald thon whon heated io operating temperature, This It to confirm thot g famp
will withstend mueh hagher shack andvibratyon nan-aperating than when oper-
ahing.

High current/low voltage fitaments repeesent short length ond large wire 3ize
93 compared o fow current/high voltoge fllements and thovefore will sand
higher shock and vibrotion due 1o higher mechanical strongth,

Lamps aro tested to MIL Standard 202C-Methed 2024 for vibrotton and Method

FILAMENT

STYLES

C-2R

202D for shock,
§mmz
i

C-6

g

LAY,

PPy




SUBMINIATURE LAMP SPECIFICATIONS GUIDE —— —]
T3% UNBASED | T4 UNBASED
| A (

\—°ggnm

fo]

——-l_mﬂ'
max.

FIG-1 FIG-2
FLANGE BASE

————

et 20MA R p= =0k = 50rmin. -

K I
gg
o
»

T% UNBASED T% Brass Base

nickel plat e | p——10
y =-040max
( Ciear *; e |

g M ) ; bl
(1 A 035035 o ooamax [ J09-115 139145
- g L
i ! _{_,{L_f | ]
\—0I0DIA

l | .
oy - '|
al?g'llo‘ ——l 094 |=e— .14-.!9/ . J25 | 23:1:?:\;‘9
187 M Xymtmr] —t———100-150 ——=— max | e 5704300 .
FIG-3 FIG-4
% BI-PINBASE | T% AXIAL LEAD

¥* 119-120 . 250 —-—}25
l * } max mun
-——C — pr—— .
IOOrt'lax {& L o Q‘—-::j=‘:
i 7 - :

. '—_>I095'|05 |t ‘l T l I.Iononaéd
|t NN Y e | ~at—2 200
.2%0
FIG-5 FIG-6
T UNBASED | Th FLANGE BASE
B ae?sdl%?s —| | = 013017
—tpe| | | s—(37-043
(*&Tlcleatenvelope Clear *—\ _— - 055-045
. - o =
| : : - .01:5%5 o 17 ltzo 1531159125?3 |
1
i \—-OIODIA. l, * =
. LCL “h25max|=== N T + léwu:‘ahng
| MOLE e o 187 031 LCL Y -0
st 3451375 i
FIG-7 FIG-8
1 T
TIPLESY' CONSTUCTION FORUNDISTORTED END VIEWING _J

3




SUBMINIATURE LAMP SPECIFICATIONS GUIDE

'

FIG? T1 BI-PIN FIGI10 T AXIAL-LEAD
020 i l *
uimx ( } 050 — i e = 1258ax.
t = ’
m?ﬁrlo:-l 220-250 | f 010D
JEMAX ——pm Haned 350MA X~ 1 25MAX-
; Side
FIG.11 T4 UNBASED FIG12 L O
e o | I‘—JO{)
.omlrg:‘%.s + oporox.
_4—— ::"ﬁ
J75MAX. &S P 235
| |tf———. (135
I o=t
et M Ol Lt ) OMIN —a-’ | o ! Ti%
FLANGE BASE
FIG13 T4 BI-PIN FiGl4 T SPECIAL BASE
_i_ LAMP TO DROP
°‘E¢3x, 115135 00MAX, THROUGH 191 DIA
— + { CYLINDER x % LONG
* 2292303}
. | p—— 3250w~ | |t—02021n8 -:—:}aog—'.—v
SIDE SOLDER FILED
FLUSH WITH SHELL
OF BASE —_— )
1 & )
FIG15 1% ' &
I20C 5008 SH5DE DA DF SOcmE” g
HOLL TRBZLGOH W O | ane k »
BBt tA_oEs - <
3
!
i S g
i * 3 %
01*78': 4
+ 0,020 |
LC.L. T 17’7’5
- [/,
0.400" Yol
+ 002 } e

546 {
L5
"é /
1 NULCELLOAreertaiogl, B
| \\\
THREAD - 32NEF-2 Yy - e

-+00000 °
8. 1CH DIA,0.2922 0003 3"

MOTO BULB TO ODROP TO CONTACT

F1 H NQTES
N.!ﬁs' S#OULDEH CONTACT-SILVER PLATE FINISH
B+ FINE KNURL
C= DULL BLACK FINISH
¢ CLATE  MEL MAr LPRATC OF PE{,

YA, LARERT
5 PLREMASENT § 5 b

Tarfl REL

COLLAR OF LAMP IS HOLE
188 01A = ; LONG

SPECIAL BASE




|
SUBMINIATURE LAMP SPECIFIC&IIONS GUIDE =il
T1% _GROOVE HASE L. 9230 T1% _UNBASED.
032
- lllr ) A
o
3050 MAK “ B | T 0520"
* MAX
i 7 3,
i' i T ‘8
L 024a’ 5 ° GREATEST GLASS
QO3 MAX 0015 “a'; DIAM DF SEAL
01897 l AREA NQT TO
0 200 EXCEED 01807 —
t : 1
Ly '—.-'3" . i
SOLDER il (]
oS - 0097° MOL
0040" | o.2107 0130
0220
FIG16
T BI:PIN
.| FIGI7
02307 FLANGE -BASE
MAXL
WHITE
KYLON i
BASE aacs 05007 1 |
= \ 95 |~ RouLE0 FoGE
e i
" 5" 3" f—— |~ BASE SMELL
0.310% L, 2 o
I il I B35
v ' SIDE SOLDER
0.010 NOTE | — " NoT
‘, l § t TO PROTRUDE
P g h 4 LAMP TQ i |
t . l orzor  OROP p— H] T INSULATOR
— - THROUGH ¥ ' |
= ] | .
02307 1 I ! 1, @R A CYLINDER O vl [\c:u'r:n SOLDER
0.270 1 & o015 i CONTACT
' “In 02407 DIA, MIN - __l|
b | g0 3/5" LONG o078" 20010°
' oo _0.2857
FIG18 20003 —_—
T MIDGET SCREW 5
- TI% WEDGE-8ASE
0230, .
L E RS
]
\'\ 1 /, N
f i ]
we | G e | 2
F} 1"', L)
, =t Wy
Al e I P2 ] e
- a G213
_— ) 0310 ::_.—5 5903 I =1
Sa i 3. 0340 A mdy
—ry; l F 5] oczo” wRL oot”
= @ HOu l wAK DIA
o 85t ERS; -5 Joses
: sovpes UM~ * WIRE TO EXTEND ABOVE
_ 0045 “hilet  TOP OF PROJECTION OF
'::iio:" NOTCH S8UT NOT BEYOND
FLAT SECTION OF WEDGE

5



IjUBMfNIATURE LAMP_SPECIFICATIONS GUIDE

TLY%

GTL-1%UNBASED

FIG.24

v
ol |
| =
1 5/ o=
8
APPROX
—t
L
FIG 22 FIG.23
GTL1% GTL-1%
GROOVED BASE FLANGED BASE

FIG.25




F—_ h

| SUBMINIATURE LAMP SPECIFICATIONS GUIDE —
LANP AVG. FlLA-  AVG. G ek
NO, BULB BASE VOLTS MSCP AMPS MENT  LIFE HRS {ins) (ins)
7050 7-3/8  Unbased 1.5 002 015 10,000
7093 7-3/8  Unbased 3.0 .030 .029 5,000
7094 7-1/2  Unbased 1.5 .002 015 10,000
7094 T-1/2 Unbaosed 3.0 .030 029 5,000
7097 7-1/2  Unbased 5.0 034 ,020 5,000
72 T-3/4  Unbased 1.15  .003 .0%0 C-2R 5,000
103-99 1-3/4  Flange Base 115 .003 .090 C-2R 5,000
3810 1-3/4  Flange Base 1.5 .002 L015%20% C-2R 10,000
| 381 1-3/4  Flange Bose 1.5 .01 015%820%  C-2R 5,000
| 7100 T-3/4  Unbased 1.5 .002 0153 20%  C-2R 10,000
7101 7-3/4 _ Unbased 1.5 .0 015520% C-2R 5,000
7810 T-3/4  Bi Pin 1.5 ,002 010 10,000
7811 7-3/4  BiPin 1.5 010 015 10,000
7121 T-3/4  Flange Base 2.5 001 1o C-2R 10,000
' 8534 T-3/4  Unbased 2.5 .001 .10 C-2R 10,000
30 1-3/4  Unbased 4.5 017 .021 C-2R 5,000
3102 7-3/4  Unbased 4,5 .018 .022 C-2R 5,000
2 T-3/4  Unbased 5,0 .034 ,021 C-2R 10,000
6153 T-3/4  Unbased 5.0 .15 060 C-2R 3,000
6183 1-3/4  Flange Base 5.0 .15 080 C-2R 3,000
6803 T-3/4  Unbased 5.0 .03 .06 C-2R 60,000 .187
4803A515 T-3/4 Unbased 5.0 03115% 06 C-2R 60,000 187
6803R 7-3/4  Unbased 5.0 .03 .06 C-2R 60,000 187
4805 T1-3/4  Axial Lead 5,0 .03 .06 C-6 60,000 .350
4805AS515 T-3/4  Axiol Lead 5.0 03 15% .06 c-6 40,000 .350
6833 T-3/4  Unbased 5.0 .05 .060 C-2R 100, 000
4835 1-3/4  Axial Lead 5.0 .05 .06 Cc-6 25,000 ,350
| 6835A515 T-3/4  Axial Lead 5.0 .05 2 15% .06 C-6 25,000 .350
' 7102 T-3/4  Unbased 5.0 .20 115 C-2R 5,000
| 702 1-3/4  Bi Pin 5.0 .034 .020 10,000
| 71124515 T-3/4  Bi Pin 5.0 034%15% 021 C-2R 10,000 ,250 .24
. 713 T-3/4  Bi Pin 5.0 .030 080 100, 000
7113A815 T1-3/4  BiPin 5.0 031 15% .06 C-2R 40,000 250 325
| 7114 1-3/4  Bi Pin 5.0 .050 060 100,000
. 7114A515 T-3/4  Bi Pin 5.0 O5515% .06 C-2R 25,000 250 .325
| 7115A515 1-3/4  Bi Pin 5.0 15 - 15% .06 C-2R 3,000 .250 325
| 7116 1-3/4  Bi Pin 5.0 .090 .075 25,000
71154515 T-3/4  Bi Pin 5.0 .09 Z15% 075 C-2R 25,000 .250 .325
7117 1-3/4  BiPin 5.0 150 .080 6,000
7118 1-3/4  BiPin 5.0 .150 15 40,000
| 7118AS15 T-3/4  BiPin 5.0 5% 15 15 C-2R 40,000 .250 .325
7119 T-3/4  Bi Pin 5.0 .200 5 5,000
7122 7-3/4  Flange Base 5.0 .034 021 C-2R 10,000
7123 1-3/4 Flange Base 5.0 .20 15 C~2R 5,000
7133 T-3/4  Unbosed 5.0 .09 075 C-2R 25,000
71338 7-3/4  Unbosed 5.0 075 C-2R 25,000
7135 T-3/4  Axial Lead 5,0 ~09 - 25% ,075 Cc-6 25,000
7135A815 T1-3/4  Axiol Lead 5,0 .09 115% 075 C-6 25,000 .350
7153 T-3/4  Unbased 5.0 15 J15 C-2R 40,000
7153AS815 T1-3/4  Unbased 5.0 A5315% 15 C-2R 40,000 187
7153R T-3/4  Unbased 5.0 215 4 115 C-2R 40,000 187
7155 T-3/4  Axial Lead 5.0 15 - 25% 115 C-6 40,000
7155A515 T7-3/4  Axial Lead 5.0 A5515%  L115 C-6 40,000 350
— 8270 1-3/4  Flange Base 50 .15 115 C-2R 40,000 '
8383 T-3/4 Flange Base 5.0 .15 .080 C-2R 15,000
8537 1-3/4 Unbased 5.0 .02 015120% C-2R 1,000
8538 7-3/4 Flange Base 5.0 .02 L0154 15% C-2R 1,000
8587 1-3/4  Flange Bose 5.0 .03 060 C-2R 100, 000




SUBMINIATURE LAMP SPECIFICATIONS GUIDE
LAMP AVG. FILA~ AVG, L.C.L. MO L,
NO. BULB BASE VOLTS  MSCP AMPS MENT  LIFE HRS {ins) {ins)
Bb66 7-3/4  Unbated 5.0 .15 080 C-2R 15,000
8828 T-3/4  Flange Base 5.0 .09 .075 C-2R 25,000
8913 1-3/4 Flange Base 5.0 .05 050 C=2R Ind,Long .300
7244 T-1 Flange Base .25 004 .012 C-2R 1,000 1875 375
7252 T-1 Bi Pin 1.25 004 012 C-2R 1,000 .2812  ,380
8798 -1 Unbesed 1,25 .003 .012 c-6 1,000 ,250
7245 T-1 Flange Base 1.35 .02 222 C-2R 25,000 L1875 375
7253 T-1 Bi Pin 1,35 02 222 C-2R 25,000 .2812 .380
8910 7-1 Unbased 1.35 .02 222 C-2R 25,000 250

' 3225 -1 Bi Pin 1.5 .002 .01 C-2R 5,000 2812 .380
7200 -1 Unbased 1.5 .002 010 C-2R 10,000 .250 |
7201 7-1 Unbesed 1.5 01 .015 C-2R 5,000 .250 |
7202 Tal Unbased 1.5 .015 060 100, 000 .250
7203 T-1 Unbased 1.5 .030 .075 C-2R 16,000 .250
7225 1-1 Flange Bose 1.5 .002 .010 C-2R 10,000 875 .375
7226 -1 Flange Base 1.5 L0l ,015 C-2R 5,000 1875  .375
7227 T-1 Flange Base 1.5 .010 .015 10,000 .375
7254 -1 Bi Pin 1.5 .01 .015 C-2R 5,000 2812 .380
7255 T-1 8i Pin 1.5 .03 075 C-2R 16,000 2812 ,380
8102 -1 Flange Base 1.5 .03 .075 C-2R 16,000 L1875 375
7017 T-1 Unbased 2.5 .05 125 C-2R 10,000 .250
7246 -1 Flange Bose 2.5 ,001 .015 C-2R 10,000 L1875 375
7247 -1 Flange Base 2.5 .10 .10 C-2R 10,000 L1875 375
7248 T-1 Flange Base 2.5 21 .320 C-2R 5,000 : ,375
7256 T-1 Bi Pin 2.5 .00} .015 C-2R 10,000 2812 .380
7257 T=1 Bi Pin 2.5 210 .320 10,000 .80 !
7732 T-1 Bi Pin 2.5 10 10 C-2R 10,000 .2812  .380
8601 T-1 Unbased 2.5 ,001 .015 C-2R 10,000 .250
8711 T-1 Unbased 2.5 21 .320 C-2R 5,000 ,250
8732 Tel Unbased 2.5 .10 L0 C-2R 10,000 .250

| 679 7-1 Flange Base 3.0 .001 0125 + 25% C-2R 16,000 375
2128 -1 Unbased 3.0 010- .015 C-2R 60,000 .250

' 3229 -1 Bi Pin 3,0 .02 015 C-2R 5,000 2812 380

7204 T-1 Unbased 3.0 .00 .008 10,000 250 |
7205 -1 Unbosed 3.0 .02 .015 C-2R 5,000 250

| 7206 Tel Unbased 3.0 .015 0225 10,000 250 |
7207 -1 Unbased 3.0 .03 .060 C~2R 100, 000 .250

| 7208 T-1 Unbased 3.0 .15 2 C-2R 16,000 250 |
7228 T-1 Flange Base 3.0 .010 .008 10,000 .375 j
7229 T-1 Flange Base 3.0 .02 0152 20%  C-2R 5,000 375
7230 1-1 Flange Base 3.0 .015 L0225 10,000 375
7231 7-1 Flange Base 3.0 .03 .060 C-2R 100,000 ,1875  .375 |
7232 el Flange Base 3.0 .15 12 C-2R 16,000 L1875 ,375
7249 T-1 Flange Base 3.0 001 008+ 20% C-2R 16,000 375 ‘
7259 1-1 Bi Pin 3.0 ,005 .0125 10,000 .380

| 7260 T-1 B Pin 3.0 .03 .060 C-2R 100,000  ,2812  .380 |

| 7261 11 Bi Pin 3.0 .15 .120 C-2R 16,000 2812 .380 |
8846 1-1 Unbased 3.0 .00 .008+20% C-2R 16,000 .250
680 T-1 Unbased 5.0 03T25% .06 C-2R 60,000 250

! 680AS15  Tel Unbased 5.0 032 15% .06 C-2R 60,000 .250
580R T-1 Unbased 5.0 .06 C-2R 100,000 .250
682 T-1 Flange Base 5.0 .03:25% .06 C-2R 40,000 L1875 375
682A515  T-1 Flange Base 5.0 03+15% .06 C-2R 60,000 L1875 375
482R T-1 Flange Base 5,0 .06 C-2R 100, 000+ 375
683 T-1 Unbased 5.0 .05 + 25% .06 C-2R 25,000 .250
683A515 T-1 Unbased 5.0 05+ 15% .06 C-2R 25,000 .250
683R 1-1 Unbased 5.0 .06 C-2R 25,000 .250
685 T-1 Flange Base 5.0 05+ 25% .06 . C-2R 25,000 1875 ,375
685A515  T-) Flange Base 5.0 054 15% .06 C-2R 25,000 L1875 375
885R T-1 Flange Base 5.0 .06 C-2R 100, 000 375

8




-

! SUBMINIATURE LAMP SPECIFICATIONS GUIDE
o AVG. “FILA-  AVG.  L.C.L. M.O.L
NO, BULB BASE VOLTS MSCP AMPS MENT  LIFE HRS {ins) {ins)
713 T-1 Unbased 5.0 09225%  .075 C-2R 25,000 .250
713AS15 T=1 Unbased 5.0 L9 2 15% .075 C-2R 25,000 250
713R T-1 Unbased 5.0 075 C-2R 25,000 250
714 T-1 Flange Bose 5.0 07 075 C-2R 25,000 . 1875 375
714A513 T-1 Flange Base 5.0 L0 *+ 15% 075 C-2R 25,000 1875 375
714R T=1 Flange Base 5.0 075 C-2R 25,000 375
715 T=1 Unbased 5.0 L5+ 25% 15 C-2R 40,000 «250
715A515 T-1 Unbased 5.0 5 215% 15 C-2R 40,000 .250
715R T=1 Unbased 5.0 15 C-2R 40,000 .250
718 T1-1 Flange Baose 5.0 .15+ 25% 115 C-2R 40,000 L1875 .375
71BAS13 T-1 Flange Base 5.0 A5+ 15% 115 C-2R 40,000 L1875 375
718R T-1 Flange Base 5.0 15 C-2R 40,000 375
930 T-1 Flange Base 5.0 ,030 L0860 60,000 .360
931 T-1 Flange Base 5.0 050 060 40,000 L3860
932 T-1 Flonge Base 5.0 . 130 15 16,000 340
233 T-1 Flange Base 5.0 .0%0 075 15,000 360
2022 T-1 Unbased 5.0 ,034 021 C-2R 10,000 145
3022 T-1 Unbased 5.0 .034 021 C-2R 10,000 187
3211 T-1 Unbased 5.0 .20 115 C-2R 5,000 . 187
4022 1-1 Unbased 50  .034 021 C-2R___ 10,000 .250
40224515 T-1 Unbased 5.0 034+ 15% 021 C-2R 10,000 .250
6150 T-1 Unbased 5.0 .5 .06 C-2R 5,000 .250
5151 T-1 Unbused 5.0 .15 06 C-2R 5,000 . 187
6152 T-1 Unbased 5.0 15 050 C-2R 5,000 .145
5180 I-1 Flange Base 5.0 .15 .06 C-2R 5,000 L1875 375
6211 T-1 Unbased 5.0 .15 .06 C-2R 5,000 .187
46212 T-1 Unbased 5.0 16 .08 C-2R 5,000 .145
5801 T-1 Unbased 5.0 .03 .06 C-2R 40,000 .187
— &BO1AS1S T-1 Unbased 5.0 03+ 15% .06 C-2R 100, 000+ 187
= _&80IR T-1 Unbased 5.0 .06 C-2R 100, 000+ .187
6802 T-1 Unbased 5.0 .03 .06 C-2R 60,000 .145
6802A515 1-1 Unbased 5.0 03+ 15% .06 C-2R 100, 000+ 145
6802R T-1 Unbased 5.0 .06 C-2R 100,000+ 143
6804 T-1 Axial Lead 5.0 03 .06 C-6 60,000 350
6B804A5135 T-1 Axial Lead 3.0 032 15% .06 C-6 40,000 .350
48048 T=1 Axial Lead 3.0 .06 C-6 40,000 .350
6806 T-1 Unbased 5.0 030 060 40,000 .235
6807 T-1 Unbased 5.0 .050 060 40,000 .235
6808 T-1 Unbased 5,0 090 .075 16,000 .235
6809 T-1 Unbased 5.0 .150 115 16,000 .235
4831 T-1 Unbased 5.0 .05 .060 C-2R 100,000 .187
46831A815 T-1 Unbased 5.0 .05+ 15% .06 C-2R 100, 000 .187
5831R T=1 Unbased 5.0 06 C-2R 100, 000 .187
6832 T-1 Unbased 5.0 05 + 25% 06 C-2R 25,000 145
68324815 T-1 Unbosed 5.0 .05 = 15% .06 C-2R 25,000 145
S832R T-1 Unbased 3.0 .05 06 C-2R 25,000 145
6833 T-1 Unbased 5.0 05 = 25% 06 C-2R 40,000 187
4833A515 Te1 Unbased 5.0 05+ 15% R C-2R 60,000 . 187
4833R T-1 Unbased 5.0 .06 C-2R 60,000 .187
6834 T-1 Axial Lead 5.0 .05 .06 C-6 25,000 . 350
6B34A5153 T=1 Axial Lead 5.0 05+ 15% .06 C-6 25,000 .350
7022 T-1 Bi Pin 5.0 034 020 10,000 .380
7022A515 T-1 Bi Pin 5.0 034+ 15% 021 C-2R 10,000 .2812 .380
7131 T-1 Unbased 5.0 09+ 25% 075 C-2R 25,000 187
7131A515  T-1 Unbased 5.0 D9+ 15% 075 C-2R 25,000 .187
— 7131R 7-1 Unbased 5,0 075 C-2R 25,000 187
— 7132 T=~1 Unbased 5.0 .09 075 C-2R 25,000 145
7132A5815 1-1 Unbuosed 5,0 09+ 15% .075 C-2R 25,000 145
7132R T-1 Unbased 5.0 075 C-2R 25,000 J145
7134 T-1 Axiol Lead 5.0 D9 2 25% 075 C-5 25,000 .350
7151 Tl Unbased 5.0 5 ALK C-2R 40,000 87




]

I_SUBMINIATURE LAMP SPECIFICATIONS GUIDE |
CAMP AVG, LA AVG.  L.CL MOL|
NO. 8ULB BASE VOLTS  MSCP AMPS MENT  LIFE HRS (ins) {lns)

~7151A515  T-1 Unbased 5.0 a5+ 15%  L115 C-2R 20, 000

. 7151R T-1 Unbased 5.0 115 C-2R 40,000 187
7152 T-1 Unbased 5.0 115 C-2R 40,000 . 145

} 7152A815 -1 Unbosed 5.0 JA5£15% .15 C-2R 40,000 145

| 715245158 _T-1 Unbased 5.0 .150 L5 C-2R Ind.Long 145
7152R T Unbased 5.0 115 C-2R 40,000 .145
7154 -1 Asiol Leed 5.0 JA5+25% 115 C-6 40,000 .350
71544515  T-1 Axial Lead 5.0 A5+ 15% L5 C-6 40,000 ,350
7209 T-1 Unbased 5.0 015 015 10,000 250
7210 -1 Unbased 5.0 .03 030 +20%  C-2R 75,000 .250

- 10%
7211 T-1 Unbased 5.0 6 .0B0 C-2R 3,000 250
7212 T=1 Unbased 5.0 .20 15 C-2R 5,000 145
7213 T-1 Unbased 5.0 .20 15 C-2R 5,000 .250
7214 Tl Unbased 5.0 .220 15 5,000 .250
7215 T-1 Unbased 5.0 .190 115 10,000 .250
7216 T-1 Unbased 5.0 22 RVE C-2R 5,000 750
7233 -1 Flange Base 5.0 .0i5 .0i5 10,000 .375
7234 T=1 Flange Base 5,0 .03 030 +20% C-2R 75,000 .375 ‘
- 10%

7235 -1 Flange Base 5.0 6 .080 C-2R 1,000 1876 .375 :

7236 T-1 Flonge Base 5.0 .20 115 C-2R 5,000 .375 |
7237 T-1 Flonge Base 5.0 .200 115 5,000 .375
7238 -1 Flange Bose 5,0 .190 RIE 100, 000 ,375 |
7239 T-1 Flange Base 5.0 .220 »125 C-2R 5,000 L1875 .375
7250 T-1 Flange Base 5.0 .04 .045 C-2R 10,000 .375 ]
7251 T-1 Flonge Base 5.0 .16 . 145 C-2R 10,000 375
7262 -1 Bi Pin 5.0 .005 017 C-2R 10,000  ,2812  .380 |
7263 T-1 Bi Pin 5.0 .030 ,030 16,000 .380
7265 Te1 Bi Pin 5.0 .15 L0460 C-2R 5,000 .2812 .380
7266 -1 Bi Pin 5.0 16 ,080 C-2R 1,000 .2812 ,380
7267 T-1 Bi Pin 5.0 ~200 115 5,000 . 380
7268 T-1 Bi Pin 5,0 .220 .125 C-2R 5,000 L2812 ,380
7270 -1 B} Pin 5.0 .030 .060 40,000 .380
7271 -1 Bi Pin 5,0 ,050 ,060 40,000 ,380

L7272 -1 Bi Pin 5.0 .050 .075 16,000 .380

I~ 7274 T-1 Bi Pin 5.0 150 15 16,000 380,

| 7680 -1 8; Pin 5.0  .030 .060 100, 000 2380 |

| 7880A515  T-1 Bi Pin 5,0 .03 .06 C-2R 60,000  .2812 380 !
7683 -1 Bi Pin 5.0 ,050 .00 100, 000 ,380

' 7683A515  T-1 Bi Pin 5.0 .05 ,06 C-2R 20,000 2812 .380

=774 T-1 Bi Pin 5.0 .09 ,075 C-2R 25,000 2812 .380
7715 -1 Bi Pin 5,0 .150 15 C-2R 40,000 2812 .380

" 8022 T-1 Flange Base 50  .034 021 C-2R 10,000  .1875  .375
8094 -1 Unbased 5.0 16 145 C-2R 10,000 ,250

| 8175 T-1 Unbased 5.0 .22 _125 C-2R 5,000 145

| 8179 T-1 Unbased 5.0 .22 125 C-2R 5,000 187
8402 -1 Unbased 5.0 ,005 ,017 C-2R 10,000 ,250
8605 T+ Flange Base 5.0 ,005 .017 C-2R 10,000  ,1875 .375

‘ 8729 -1 Unbased 5.0 .04 .045 C-2R 10,000 ,250

| 7218 T-1 Unbased 10,0  .100 027 C-2F 10,000 .250
7240 T-1 Flange Base 0.0 .100 027 C-2F 10,000 1875 .375

| 8095 1-1 Bi Pin 10.0 .10 027 C-2F 10,000 2812 .380

32 -1 Flange Base 12,0 .15 ,050 C-2F 16,000 .375

‘ 7219 1-1 Unbased 12.0 .15 .060 C-2F 10,000 .250

i 8097 1-1 Bi Pin 12,0 .15 ,080 C-2F 10,000 2812 .3g0_ "

| 8098 -1 Bi Pin 14,0 .15 .065 C-2F 16,000 380

| g T-1 Unbased 14,0 .15 L0645 C-2F 16,000 .250
8112 -1 Flange Base 140 .15 L0865 C-2F 16,000 .375
7220 T-1 Unbased 18.0 .15 026 C-2F 16,000 .250
7241 7-1 Flange Bose 18.0 .15 026 C-2F 16,000 1875 .375

10




.

SUBMINIATURE LAMP SPECIFICATIONS GUIDE -

T LANMP —AVG.  FILA-  AVG. L.C.L, M.O.L
NO, BULB BASE VOLTS MSCP AMPS MENT  LIFE HRS {ins) {ins)
8099 T-1 Bi Pin 18.0 .15 026 C-2F 16,000 .2812 .380
4838 T-1 Unbased 28.0 .15 .024 CC-2F 16,000 250
£838AS25  T-1 Unbosed 28.0 .15+ 25%  .024 CC-2F 16,000 .250
6839 T-1 Flange Base 28.0 .15 024 CC-2F 16,000 375
58394525  T-1 Flange Base 28.0 L5 = 25% 024 CC-2F 14,000 . 1875 375
7221 T-1 Unbased 28,0 .050 010 16,000 .250
7222 T-1 Unbased 28.0 .150 024 16,000 .250
7242 T-1 Flange Base 28,0 .050 .010 16,000 ,375
7243 T-1 Flange Base 28.0 .150 .024 16,000 375
7839 T-1 Bi Pin 28.0 .15 .024 CC-2F 16,000 2812 .380
2135 T-14 Unbased 1.3 006 .03 §-2 100 460
2235D T-14 Unbased 1.3 006 .03 §-2 50 478
7301 T-14 Fig. 15 1.3 .006 .03 §-2 100 546
7302 T-14 Flange Base 1.3 006 .03 §-2 100 625
7303 T-12 Fig. 14 1,3 .006 .03 §-2 100 .550
8631 T-14 Unbased 1.35  .006 .06 C-2R 500 L4560
8635 T-14 Flange Bose 1,35  .005 .06 C-2R 500 625
8641 T-1} Fig. 14 1,35  .006 .06 C-2R 500 550
8647 T-1} Fig. 15 1,35  .00& .06 C-2R 500 548
326 T-1} Fig. 15 2.5 .55 .40 C-2R a0 546
329 T-12 Fig. 14 2.5 .55 .40 C-2R 30 .550
8455 T-14 Unbased 2.5 .55 .40 C-2R 30 L4450
8656 T-14 Flange Base 2.5 .55 .40 C-2R 30 625
323 Telt Fig. 15 3.0 25 .19 C-2R 350 172 546
323R T-11 Fig. 15 3.0 19 C-2R 350 172 .546
324 T-11 Unbesed 3.0 .25 19 C-2R 350 L4860
325 T-14 Fig. 14 3.0 .25 .19 C-2R 350 437 .550
637 T={4 Flange Base 3.0 .250 190 350 625
2139D T-13 Unbased 3.0 .24 19 C-2R 350 .438
7637 7-1} Bi Pin 3.0 .250 .190 350 625
8637 T-11 Flange Base 3.0 .25 .19 C-2R 350 625
673 T-14 Fig. 14 4,5 1.05 .29 C-2R 100 437 550
7304 113 Fig. 15 4.5 1,05 .285 C-2R 100 546
7305 Tl Flonge Base 4.5 1,05 .285 C~2R 100 625
8816 T-11 Unbased 4.5 1.05 .285 C-2R 100 L4560
515/D T-14 Unbased 5.0 .15 15 C-2R 40,000 .460
580/D T-14 Unbased 5,0 .03+ 25% .06 C-2R 30,000 440
582 T-1} Flange Base 5.0 .030 050 625
583/D T-14 Unbased 5.0 05 .06 C-2R (+) 25,000 L4860
538DX =14 Unbased 5.0 L05 * 15% 06 C-2R 25,000 .438
585 T-14 Flange Base 5.0 .050 080 100,000 625
1189 Tl Unbased 5.0 .050 060 40,000 265
1190 T-14 Unbased 5.0 .050 060 40,000 265
1191 Teld Unbased 5.0 .090 075 16,000 .265
3515 T-14 Fig. 14 5.0 15 116 C-2R 40,000 .550
3516 T-13 Fig. 15 5,0 15 .15 C-2R 40,000 ,546
3518 T-I.‘: Flonge Bose 5.0 .15 2115 C-2R 40,000 .625
3580 T-12 Fig. 14 5.0 .03 .06 C-2R 100, 000 .550
3581 T-14 Fig. 15 5.0 .03 .06 C-2R 100, 000 ,546
3582 T Flange Base 5.0 .03 .06 C-2R 100, 000 ,625
3583 Tols Fig, 14 5.0 .05 .06 C-2R 100,000 ,550
3584 T-14 Fig. 15 5.0 .05 .06 C-2R 100, 000 546
3585 1-15  Flange Base 5.0 .05 06 C-2R 100,000 625
7515 1-1 B Pin 5.0 .15+25% .15 C-28 20,000 625

_7580 T-1} Bi Pin 5.0 .03 = 25% 060 C-2R 30,000 625
7583 T-1; Bi Pin 5.0 05 + 25% 060 C-2R 25,000 625
8515 T-11  Unbesed 5.0 090 15 16,000 265
371 T=l; Fig. 14 6.0 13 .06 C-2R 3,000 1550
541 T-l.i. Flange Base 6.0 120 .040 3:000 '625
628 T-1, Flange Base 6.0 630 .200 1,000 "85

11



]

SUBMINIATURE LAMP SPECIFICATIONS GUIDE ‘
TAMP AVG, FILA-— AVG. LCT MmOt
NO, BULB BASE VOLTS  MSCP AMPS MENT  LIFE HRS {ins) {ins) H
634/D T-13 Unbased 6.0 .63 .20 C-2R 1,000 440
2114/D 7-1} Unbased 6.0 RE: .06 C-2R  3.000 -460 |
7309 T-13  Bi Pin 6.0 120 .060 3,000 .625 |
7628 T-11  Bi Pin 6.0  .630 .200 1,000 [625
8541 Tald  FlonseBase 60 .13 .06 C-2R  3m00D 1625
8543 -1} Fig. 15 6.0 .13 .06 C-2R 3,000 -545
8428 Tela Flange Base 6.0 .53 .20 C-2R 1,000 .625
8639 T-11  Fig. 15 6.0 .63 .20 C-2R 1,000 546
8645 T-14 Fig, 14 6.0 .63 .20 C-28 I:OOO 1550
8657 T-12 Fig. 15 6.0 .03 .04 c-2v 1,000 545
8660 T-1i _ Flango Base 6.0 .03 .04 C-2v 1,000 625
8661 Tl Unbased 6.0 .03 -04 2V 1.000 -260
8662 -1 Fig. 14 6.0 .03 .04 c-2v 1,000 550
8551 T-14 Flonge Base 6.3 .55 .20 C-2R 5,000 1625
8552 T-L} Fig. 14 6.3 .55 .20 C-2R 5,000 550
8553 T-13 Fig. 15 6.3 .55 .20 C-2R 5,000 546
Xamo T-14 Unbased 6.3 .55 .20 X C-2R — 5,000 —> 460 A
Y7652 T-14 Bi Pin 10,0 .006 015 C-2F 50,000 600
8606 T-1 Fig. 14 10,0  .004 .014 C-2F 10,000 .550
8607 T-12 Fig. 15 10,0  .004 .014 C-2F 10,000 546
8608 T=12 Unbased 10.0  .004 014 C-2F 10,000 460
8609 Twl) Flange Base 10.0 004 014 C-2F 10,000 .625
8452/D T-1a Unbased 10.0 006 015 C-2F 50,000 L 46
7651 T-12 Bi Pin 12,0 .10 .04 C-2F 10,000 60
86510 T-12 Unbased 12.0 .10 .04 C-2F 10,000 JAb
640 T2} Unbased 14,0 .430 .080 1,000 .46
646 1-1. Flange Base 14,0  .430 .080 1,000 .625
7646 T-14 Bi Pin 14.0 430 ,080 T,000 625
7650 T1i Bi Pin 14,0 .30 .08 C-2F 15,000 .60
8640 T-14 Unbased 14.0 .50 .08 C-2F 1,000 480
8644 T-14 Fig. 14 14,0 .50 .08 C-2F 1,000 .550
8646 T-1. Flange Base 14,0 .50 .08 C-2F 1,000 .625
8654 T-12 Fig.15 14,0 .50 .08 C-2F 1,000 L5458
B450/D T-14 Unbased 14,0 .30 .08 C-2F 15,000 .46
627 T} Unbased 28,0 .340 .040 1,000 L4
632 Tela Flange Base 28,0  .340 .040 1,000 625
7632 T-14 Bi Pin 28.0  .340 .040 1,000 .625
8623 T-14 Fig. 15 28.0 .32 .04 C-2F 1,000 .54%
8627 T-12 Unbosed 28,0 .32 .04 C-2F 1,000 460
8632 T=1} Flonge Base 28.0 .32 .04 C-2F 1,000 .625
8635 Toil Fig. 14 28,0 .32 .04 C-2F 1,000 .550
2184/D T-1-3/4 Unbased 1.3 .02 .05 5-2 10 .520
331 T-1-3/4 Flange Base 1.35 .0l .06 C-6 3,000 .375 625
698 T-1-3/4 Mid.Grooved 1.35 .0} .06 C-2R 500 .625
1728/D 1-1-3/4 Unhosed 1.35 .01 .06 C-6 3.000 .520
2301 1-1-3/4 8 Pin 1,35 006 .06 C-2R 3,000 .500 625
2301PS T-1-3/4 Bi Pin 1.35 .01 .06 C-28 3,000 .500 625
2301BL T-1-3/4 8 Pin 1.35 .0l .06 C-2R 3,000  .500 625
2301BLPS  T-1-3/4 Bi Pin 1.35 .01 .06 C-2R 3,000 .500 625
7931(2301) T-1-3/4  Bi Pin 1.35 .01 .06 C-2R 3,000 .500 .625
8669 T-1-3/4  Mid. Screw 1.35 .01 .06 C-6 3,000 516 ,688
2119/D T-1-3/4 Unbased 2.0 .02 .06 C-2R 5,000 .520
2129 T-1-3/4 Unbosed 2,0 .02 .06 C-2R 5,000 .520
251 T-1-3/4 Flonge Base 2.47 .30 C-2R 30 .375 .625 |
266 T-1-3/4 Mid.Grooved 2.5 .21 +35 C-2R 10,000 625
268 7-1-3/4 Flange Base 2.5 .35 C-28 10,000 .437 .625
343 T-1-3/4 Flange Base 2.5 .55 .40 C-2R 30 625
348 7-1-3/4 Flange Base 2.5 .20 .20 C-2R 500 375 625
1767 T-1-3/4 Mid, Screw 5.5 .20 .20 C-2R 500 516 .594

12




-

SUBMINIATURE LAMP SPECIFICATIONS GUIDEV(J. e ————
: -
l':lAca;A-P BULE BASE VOLTS MSCP AMPS ME;:T Llsl;l:.) HRS llsnlsl {;92
1769 T-1-3/4 Mid, Screw 2.5 .20 .gg (c::-zre s . o
g Tled (pnoigd 22 '35 C-2R 10,000 .520
2169/D T-1-3/4 Unbased 2.5 21 -35 ¢ 10'000 e
2236D 1-1-3/4 Unboted 2o 120 C-2R 500 500 .625
| 2302 T-1-3/4 Bi Bin 2.5 .20 “30 C-28 500 500 .625
2302P5 T-1-3/4  Bi Pin 2,5 .20 s CooR 500 ‘500 .25
23026L 1-1-3/4 8 Pin 2.5 .20 2 oo % i wi
2302BLPS  T-1-3/4 Bi Pin 2.5 .20 . co 200 e grs
7312 7-1-3/4 Mid. Screw 2.5 21 .33 <4 10 2 g
7357 ol 3/4 Bi Pin 2.5 .55 : C-28 LT = 822
| 7968(2302) T-1-3/4 8 Pin 2.5 .2 < £58 46 "520
. | 8663 T-1-3/4 Unbased 2.5 .55 . = 30 516 488
8671 7-1-3/4 Mid, Screw 245 «55 .40 Cor 50 75 625
B69Y 1-1-3/4 Mid, Groove 2.5 .20 .20 =R 5 5% 375
8703 T-1=-3/4 Mid. Groove 2.3 .55 .40 C:2R 506 "37s 425
338 7-1-3/4 Flange Base 2.7 .04 .06 C-28 8000 oo
1738/D 7-1-3/4 Unbased 2.7 .04 -gf’ 5 6'000 "520
173BAFD 7-1-3/4 Unbased 2.7 .06 o 6'000 1500 625
2303 7-1-3/4 Bi Pin 2.7 .04 ’ g sl e s s
230375 T-1-3/4 Bi Pin 2,7 .04 o - ' 500 625
i Pi 2.7 .04 06 C-2R 6,000 ;
23035L 1-1-3/4  Bi Pin ; 0 o o o0 o
23038LPS  T-1-3/4 Bi Pin 2,7 .04 “38 : 500 .625
; pi 2.7 04 06 C-2R 60,000 ; i
7838(2303) T-1-3/4 Bi Pin . . £ 5,000 " ¢88
8693 1-1-3/4 Mid. Screw 2.7 .04 .06 C-28 6000 == o8
" 8704 T-1-3/4 Nltid. Groove g .g .gga -8?5 c-s S e “os
375 7-1-3/4 Flange Base . 3 ‘ - 5 . "
390 1-1-3/4 Mid. Groove 3.0 .003 ,015 C-6 %oéggo 375 .ggg
4 2156 T-1-3/4  Unbased 3.0 02 .03 c-6 ; .
3.0 .002-.004  ,013-,017 c-6 10,000 ,520
2158/D 7-1-3/4 Unbased i . . 55 s —%
| 77304 T-1-3/4 B Pin 3.0 234 .30 c-g: a0 ;e a
| 230495 T-1-3/4  Bi Pin 3.0 .34 .30 Cc- 1,300 2
2304BL T-1-3/4 Bi Pin 3.0 .34 .30 C-2R 00 20
) 2304BLPS  T-1-3/4 Bi Pin 3.0 .34 o C-2R ol o
| 7313 7-1-3/4  Mid. Screw 3.0 015+ 20°% ,003-,006 C-6 10, 2! .
| 7314 T-1-3/4  Mid, Screw 3.0 .02 .03 C-6 10,000  .516 .gg
7329 1-1-3/4 Flange Base 3.0 .02 .03 C-6 1,800 22
| 7343 T-1-3/4 Mid.Groove 3.0 .02 .03 c-6 1,800 .62
7375 1-1-3/4  Bi Pin 3.0 L015+20%  ,003-.006 C-6 20,000 500 425
2171/D T-1-3/4 Unbased 4.5 J04°30%  .110-,125  Cs2F 25,000 .520
7315 T-1-3/4 Mid. Screw 4.5 05 L110-,125 C-2F 25,000 516 ,688
7331 7-1-3/4 Flange Base 4.5 .05 N10-,125  C-2F 25,000 75 L4825
7345 T-1-3/4 Mid, Groove 4.5 ,05 120 C-2F 25,000 500 L8625
7359 T-1-3/4  Bi Pin 4.5 .05 120 C-2F 25,000 500 625
339 1-1-3/4 Flange Bose 5.0 .034% 20%  0.200 c-2R 15,000 .625
341 T-1-3/4 Mid. Groove 5.0 0,370 0.200 C-2R 15,000 ,625
518 T-1-3/4 Flonge Base 5.0 ,150 .15 40,000
1428 1-1-3/4 Unbased 5.0 370 .200 C-2R 15,000 .520
2200/D T-1-3/4 Unbased 5.0 .05 06 C-2R 25,000 .520
2203/D T-1-3/4 Unbased 5.0 .15 15 C-2R 20,000 ,520
7208/D T=1-3/4 Unbased 5.0 .002 015 C-2Vv 50,000 .520
3149 T-1-3/4  Bi Pin 5.0 .15 .06 C-2R 5,000 500 625
3150 T-1-3/4 Flange Base 5.0 .15 .06 C-2R 5,000 375825
3151 T-1-3/4  Unbased 5.0 .15 .06 C-2R 5,000 .520
J 3152 1-1-3/4 Mid.Groove 5.0 .15 .06 C-2R 5,000 375 625
3153 T=1=-3/4 Mid. Screw 3.0 .15 .06 C-2R 5,000 5ls .688
7316 T-1-3/4  Mid. Screw 5.0 .03 .06 C-2R 60,000 516 688
7317 1-1-3/4  Mid, Screw 5.0 .45 .19 C-2R 1,000 .688
7318 T-1-3/4  Mid. Screw 5.0 .05 .06 C-2R 25,000 516 688
7319 T-1-3/4  Mid. Screw 5.0 .15 5 C-2R 40,000 516,688
7332 1-1-3/4  Flange Base 5.0 .03 .06 C-2R 60,000 375 625

13




S

SUBMINIATURE LAMP SPECIFICATIONS GUIDE

“TANP A T AVG, FILA- AVG.  L.C.L. MoO.L
NO, BULB BASE VOLTS  MSCP AMPS MENT  LIFE HRS {ins) (ins)
7333 T-1-3/4 Flange Base 5.0 .05 .06 C-2R 25,000 .a37s 625 "i
7334 7-1-3/4 Flange Base 5.0 .45 .19 C-2R 1,000 625 ¢
7335 T-1-3/4  Flange Bose 5.0 .15 115 C-2R 40,000  ,375 .625
7346 T-1-3/4 Mid. Groove 5.0 .03 060 C-2R 60,000 500 625
7347 7-1-3/4 Mid. Groove 5.0 .05 .060 C-2R 25,000  .500 .625
7348 T-1-3/4 Mid. Groove 5.0 .15 115 C-2R 40,000 ,500 625
7350 -1-3/4 Mid. Groove 5.0 .45 .19 C-2R 1,000 .500 .625
7360 1 1-3/4  Bi Pin 5.0 .03 050 C-2R 60,000  ,500 625 |
7361 7-1-3/4 Bi Pin 5.0 .05 060 C-2R 25,000 500 .625
7362 1-1-3/4  Bi Pin 5.0 .15 15 C-2R 40,000 500 625
7363 T-1-3/4 Bi Pin 5.0 .45 19 C-2R 1,000 .625
7366 T-1-3/4  Bi Pin 5.0 .370 .200 C-2R 15,000 .625
8784 T-1-3/4 Unbased 5,0 .45 19 C-2R 1,000 .520
8805 T-1-3/4  Unbosed 5.0 .03 .06 C-2R 60,000 .520
328 T-1-3/4 Flonge Base 6.0 .34 .20 C-2R 1,000 375 625
328AS10 T-1-3/4 Flange Base 6.0 .34 = 10% ,29 C-2R 1,000 .375 ,625
328A515 T-1-3/4  Flange Base 6.0 342 15% .20 C-2R 1,000 .375 625
328R T-1-3/4 Flange Base 6.0 .20 C-2R 1,000 625
328X T-1-3/4 Flange Base 6.0 .60 200-.220 C-2R 2,000 .375 .625
337 T-1-3/4 Mid. Groove 6.0 .60 .20 C-2R 1,000 .375 625
342 T-1-3/4 Mid, Screw 6.0 .03 .04 C-2v 20,000 .516 ,688
345 T-1-3/4 Flange Base 6.0 .04 .04 C-2v 20,000 .375 625
1730/D T-1-3/4  Unbased 6.0 .04 .04 C-2v 20,000 .520
1768 T-1-3/4 Mid. Screw 6.0 ] .20 C-2R 1,000 516 688
1748L T-1-3/4 Mid. Screw 6.0 .63 .22 C-2R 3,000 .688
1784/D T-1-3/4  Unbased 6,0 60 .20 C-2R 1,000 ,520
1784L T-1-3/4 Unbased 6.0 .63 .22 C-2R 3,000 .520
1784AS10  T-1<3/4 Unbased 6.0 .60 = 10% .20 C-2R 1,000 .520
2191/D T-1-3/4 Unbased 6.0  ,014-.035 034,044 C-2V 25,000 .520
2305 T-1-3/4 Bi Pin 6.0 .03 .04 C-2V 20,000 500 625 [
2305PS T-1-3/4 Bi Pin 6.0 .03 .04 C-2v 20,000 500 .625
2305BL T-1-3/4 Bi Pin 6.0 .03 .04 c-2v 20,000 500 .625
2305BLPS  T-1-3/4 Bi Pin 6.0 .03 .04 C-2v 20,000  .500 625
2306 T-1-3/4  Bi Pin 6.0 .60 .02 C-2R 1,000 .500 625
2306PS 7-1-3/4 Bi Pin 6.0 .60 .20 C-2R 1,000 ,500 525
2306BL T-1-3/4  Bi Pin 6.0 .60 .20 C-2R 1,000 .500 825
2306BLPS  T-1-3/4 Bi Pin 6.0 .60 .20 C-2R 1,000 500 625
2315 1-1-3/4 B Pin 6.0 .03 .04 Cc-2v 20,000 .500 .625
2323 T-1-3/4 Bi Pin 6.0 .60 .20 C-2R 1,000 437 625
7328(2306) T-1-3/4 8i Pin 6.0 .60 .20 C-2R 1,000 .500 .625
7336 T-1-3/4 Flange Base 6.0 10 .20 C-2F 50,0600 L 625
7337 T-1-3/4 Flange Base 6.0 .63 .22 C-2R 3,000 625
7945(2305) T-1-3/4 Bi Pin 6.0 .03 .04 C-2v 20,000  .500 .625
8664 T-1-3/4  Unbased 6.0 10 .20 C-2F 50,000 .520
8487 T-1-3/4 Mid, Screw 6.0 .10 .20 C-2F 50,000 688
8705 7-1-3/4 Mid Groove 6.0 .03 .04 C-2v 20,000 .375 625
8706 T-1-3/4 Mid Groove 6.0 10 .20 C-2F 50,000 625
349 T-1-3/4 Flange Base 6.3 .55 .20 C-2R 5,000 .375 625
350 T-1-3/4 Flange Base 6.3 .45 .15 C-2R 3,000 .375 .625
377 7-1-3/4 Flonge Base 6.3 .23 .075 C-2R 1,000 .375 625
378 T-1-3/4 Mid. Screw 6.3 .40 .20 C-2F 20,000 .516 .688
379 T-1-3/4 Mid. Groove 6.3 .40 .20 C-2F 20,000 .375 625
380 7-1-3/4 Flonge Base 6.3 .03 .04 C-2F 20,000 .375 .625
81 T-1-3/4 Flonge Base 6.3 .40 .20 C-2F 20,000  ,375 625
398 T-1-3/4 Mid. Groove 6.3 .55 .20 C-2R 5,000 .75 625 L
1735/D T-1-3/4 Unbased 6.3 .23 075 C-2R 1,000 .520 _
1775 T-1-3/4 Mid, Screw 6.3 .23 075 C-2R 1,000 516 .633
2037 T~1-3/4 Unbased 6.3 .40 .20 C-2R 20,000 .5 9
2039/D T-1-3/4 Unbaosed 6.3 .23 075 C-2R 1,000 .go
2112/D T-1-3/4 Unbased 6.3 .55 .20 C-2R 5,000 .

14




e :

- [SUSMINIATURE LAMP SPEGIFIGATIONS GUIDE ———
ir\:\?s MENT  LIFE HRS ___(ins) (ins)
tﬁgﬁp AT BASE VOLTS  MSCP o e =
> -1-3/4 Unbuased 6,3 .03 2 ity 20000 "520
2179/D 1-1-3/ o = "04 000 2
2180/0  T-1-3/4  Unbased 6.3 .40 .20 C-2F 20,000 g
2181/D T-1-3/4 Unbased &5 v -2 T 500 o
2190/D 7-1-3/4 Unbased 6‘3 - 20 C-2R 5'008 .5(;0 e
2307 7-1-3/4  Bi Pin . 31 o 30 = 73
2307P5 T-1-3/4  Bi Pin gg 2 20 S ggoggo e
076L T=1-3/74  Bi B ) i .20 C-2R ; . ~625
ggwaws 1- : gﬁ gi Eln gg :ig 2 E‘ii gg'gg _g% @25
2319 T- i Pin 6.3 g 20 | ’ 00 .500 425
2319PS T-1-3/4 _Bi Pin 22 G 5 et 70.0 S0 823
231961 1-1-3/4  Bi Pin ey o o 20'033 0 s
23198LPS  T-1-3/4 Bi Pin 6y A 20 o 20’000 32 0
2337 T-1-3/4 Bi P:n 6.3 .03 o o 20'000 .500 625
2340 T-1-3/4  Bi Pin e <04 o 050 23
2340PS T-1-3/4 Bi P:n 6.3 .03 o = 56-00 .500 a5
23408L  1-1-3/4 BiPin 63 .03 .04 C-2F 20,000 . o
T-1:3/4 BiFin : : C-2F 20,000 .516 .
: ?’gggaws T-1-3/4 Mid. Screw 6.3 .gg .?g C-2R 3,000 516 gg
7321 7-1-3/4 Mid, Screw 6.3 45 32 S o r
7-1-3/4 Mid, Serew 6.3 ’ : e 5500 550 -
z323 TP 6.3 .55 .2 0 e i
P iy mm 83 mewe @ oR oSOl A
AS1S 1 P . 04 ¥ 2 )
;gg? ° T-1-3/4 Mid. Groove 6.3 .gg i g 3,000 "500 ‘ggg
7352 T-1-3/4 Mid Groove 6.3 'IO ¢ i 50,000 '625
7364 7-1-3/4 _Bi Pin 6.3 2D 20 e 5 s
7368 7-1-3/4  Bi Pin 6.3 o2 5 o NS 5 s
7377 T-1-3/4 Bi Pin 6.3 -03 "0 C-2F 20,000 .300 .625
7380(2340) T-1-3/4 Bi Pin 6.3 03 s CoF 0000 500 25
T 7381(2319)  T-1-3/4  Bi Pin 6. s .15 C-2R 3,000 "
UL 1-1:372 Unboed o 075 C-2R 1,000  .375 .6
’ -‘ 8708 T-1-3/4 Mid, Groove 6.3 .'15 .035 o 25,000 "e20
| 2 T s 4 0126-0154 C-2F 50,000+  .375 .625
l s D ol Sy as " 04 C-2F 5,000 375 625
| ik g ol o .04 C-2F 5,000 375 .625
367X T-1-3/4 Flange Base 10,0 .03 .04 e o o
l 389 T-1-3/4  Mid. Screw 0.0 . o C-2F S 22
44 oy Mdebes R o 0126-.0154  C-2F 50,000+  .375 625
o Pl Mhoes e N 0126-.0154  C-2F 50,000+ 520
! e N e oo o .0126-,0154  C-2F___ 50,000+ 520
186%/D T-1-3/4 Unbosed 10.0 .03 . 04. el 0D e
2107/D T=1-3/4 Unbased 10.0 . 0]56_ SiEi o e g
2149/D T-1-3/4 Unbased 10.0 .goa oy of 0
| 2204/D T-1-3/4 Unbased 10.0 'O(BM .0]4 o 5 o - o
| o i i B e 014 C-2F 50,000+ _ .500 .25
2308P5 T-1-3/4  Bi Pin 10.0 it g e 425
2308BL T-1-3/4 Bi Pin 10.0 . : g S £33
2308BLPS  T-1-3/4 Bi Pin 0.0 .00 41 g o S0 <623
2309 T-1-3/4  8i Pin 10,0 .08 :04 or s +200 -£25
2309P% T-1-3/4  8i Pin 10.0 .08 0 o e =00 £33
23098L 1-1-3/4  Bi Pin 0.0 .08 i Gz 500 -300 623
23098LPS  T1-1-3/4  Bi Pin 10.0 .08 W A A 25
7344 T-1-3/4  Bi Pin 10.0  .006 HEE D, €2 20 €23
7367(2309) T-1-3/4 Bi Pin 0.0 .08 g el 2
8691 T-1-3/4 Mid. Screw 10,0 .002 014 il L A s
8692 T-1-3/4 Mid. Screw 10.0 004 . b o 10,000 =2 e
— 77325 T-1-3/4 Mid, Screw no .03 .0 2 g 107000 2 o2
— 7338 T-1-3/4 Flange Base Nn.o .03 .ggz e L 23
7353 T=-1-3/4 Mid, Gr?ove 11,0 .03 .022 e e g oo
7369 T-1-3/4  Bi Pin 11.0 .03 g S L o
8946 T-1-3/4 Unbased 11.0 .03 02 e B s 520
394 T-1-3/4 Flange Base 12,0 12 5




]

SUBMINIATURE LAMP SPECIFICATIONS GUIDE
—LARFP AV, FILA- AVEG L.L.L T MOIT
NO, BULB BASE VOLTS  MSCP AMPS MENT  LIFE HRS (ins) {ins)
2174/D T-1-3/4 Unbased 120,18 .04 C-2F 10,000 .500 .520
7326 T-1-3/4 Mid, Screw 12,0 .10 .04 C-2F 10,000 516 .688
7354 T-1-3/4 Mid. Groave 12.0 12 .04 C-2F 10,000 . 500 625
7371 1-1-3/4 Bi Pin 120,12 .04 C-2F 10,000 500 625
37 T-1-3/4  Wodge Bose 14.0 .50 .09 C-2F 1,500 .40 .80
73 T-1-3/4 Wedge Base 14,0 .30 .08 C-3F 15,000 .30 80 |
74 T-1-3/4 Wedge Bose 14,0 .70 o C~2F 500 .40 .80
330 T-1-3/4 Flange Base 14.0 .50 .08 C-2F 1,500 .375 .625
330R T-1-3/4 Flange Base 14.0 .08 C-2F 1,500 .625
336 1-1-3/4  Mid. Groove 14.0 .50 .08 C-2F 1,500 .375 625
349 T-1-3/4 Mid, Screw 140 .50 .08 C-2F 1,500 719
373 T-1-3/4  Mid. Screw 14.0 .50 .08 C-2F 1,500 516 .688
382 T-1-3/4 Flange Base 140 .30 .08 C-2F 15,000 .375 625
383 ¥-1-3/4  Mid. Screw 14.0 50 .08 C-2F 1,500 516 .625
386 T-1-3/4 Mid. Groove. 14,0 .30 .08 C-~2F 15,000 .375 625
393 T-1-3/4 Mid. Groove 14,0 .50 100 C-2F 10,000 625
} 1705/D T-1-3/4 Unbased 14,0 .50 .08 C-2F 1,500 .520
| 2180/D T-1-3/4  Unbased 14,0 .50 .08 C-2F 1,500 .520
‘ 2162/D T-1-3/4  Unbased 14.0 .50 .10 C-2F 10,000 .520
2182/0 T-1-3/4 Unbased 14,0 .30 .08 C-2F 15,000 .520
' 2192/D 1-1-3/4 Unbased 4.0 .30 .08 C-2F 15,000 .520
L2310 T-1-3/4  Bi Pin 14,0 .5 .08 C-2F 1,500 .500 .625
2310PS T-1-3/4 Bi Pin 14,0 .5 .08 C-2F 1,500 500 .625
| 23108, T-1-3/4  Bi Pin 14.0 .5 .08 C-2F 1,500 .500 .625
| _2310BLPS  T-1-3/4 Bi Pin 14,0 .5 .08 C-2F 1,500 .500 625
2317 T-1-3/4  B8i Pin 14,0 .50 .08 C-2F 1,500 .500 625
2332 T-1-3/4  Bi Pin 14,0 ,30 .08 C-2F 15,000 .500 625
| 233295 1-1-3/4 B Pin 14.0 .30 .08 C~2F 15,000 .500 625 |
23328L T-1-3/4  Bi Pin 14,0 .30 .08 C-2F 15,000 .500 .625
| 233981P8 T-1-3/4  Bi Pin 14.0 .30 08 Cc-oF 15,000 ,500 625 [
| 2335 T-1-3/4 Bi Pin 14,0 .30 .08 C~2F 15,000 .500 .580 !
2382 T-1-3/4 Unbased 14.0 .30 .08 C-2F 15,000 .520 |
733012310) T1-1-3/4  Bi Pin 14,0 .50 .08 C-2F 1,500 .500 .625 |
7373 T-1-3/4 Bi Pin 14.0 .50 .10 C-2F 10,000 .500 .625
7382(2332)  1-1-3/4  Bi Pin 14,0 .30 .08 C-2F 15,000 .500 .625
8162 T-1-3/4  Mid, Screw 14,0 .50 .00 C-2F 10,000 .688 |
8362 T-1-3/4 Mid. Screw 14.0 .30 .08 C~2F 15,000 .516 .688 ‘
8918 T-1-3/4 Flange Base 14.0 .50 .10 C-2F 10,000 .375 .625
2339 T-1-3/4  Bi Pin 15.0 075 .04 C-2F 15,000 .500 .580
7003 1-1-3/4  8i Pin 15.0 075 .04 C-2F 15,000 .500 .580
346 1-1-3/4 Mid. Groove 18.0 .15 .04 C-2F 10,000 .375 625
| 370 1-1-3/4 Flonge Base 18.0 .15 .04 C-2F 10,000 .375 .625
2002/D T-1-3/4 Unhbased 18.0 .15 .04 C-2F 1,000 .520
2102/D T-1-3/4 Unbased 18.0 .15 .04 C-2F 10,000 .520
2311 T-1-3/4 8 Pin 1’0 5 04 CePF 2,000 .500 .580
2311PS T-1-3/4 BiPin 18,0 .I5 .04 C-2F 2,000 .500 .580
23118L T-1-3/4  Bi Pin 18.0 .15 .04 C-2F 2,000 . 500 .580
23118LPS  T-1-3/4  Bi Pin 18.0 .15 .04 C-2F 2,000 .500 .580
2316 1-1-3/4  Bi Pin 18.0 .15 .04 C-2F 10,000 .500 .580
'2321 1-1-3/4 Bi Pin 18.0 .15 .04 C-2F 10,000 .500 .580
737012311) T-1-3/4 Bi Pin 18.0 .15 .04 C2F 10,000 .500 .625
8536 T-1-3/4 Mid. Screw 18.0 .15 .04 3833 C-2F 10,000 .688
= -]
457 7-1-3/4 Mid, Groove 2.0 .30 .038-.042 C-2F 2,000 .375 .625
459 1-1-3/4 Flonge Base 22,0 .30 .038-,042 C-2F 2,000 .375 625
7459 1-1-3/4  Bi Pin 22.0 .30 .04 C-2F 2,000 . 500 625 b
8425 7-1-34  Unbosed 22.0 .30 .04 C-2F 2,000 520 —
8437 T-1-3 4  Mid, Screw 22.0 .30 .04 C-2F 2,000 .688
2041 T-1-3‘4  Unbased 24,0 50 .06 C-2F 5,000 .520
2176 D 1-1-3 4  Unbased 2.0 .50 .05 C-2F 2,000 -520
2311 1-1-3 4 B Pin 24.0 .50 W05 C-F 10,000 . 500 . 580

16




SUBMINIATURE LAMP SPECIFICATIONS GUIDE -

L.C.L,

 LAMP AVG, FILA-  AVG, M.O.L
NO. BULB BASE VOLTS  MSCP AMPS MENT  LIFE HRS __ (ins) (ins)
2313PS 1-1-3/4  Bi Pin 24.0 .50 .05 c-2F 10,000  .500 .580
23136L T-1-3/4  8i Pin 24,0 .50 .05 c-2F 10,000  .500 .580
23138LPS  T-1-3/4  Bi Pin 24,0 .50 .05 C-2F 10,000  .500 .580
2341 T-1-3/4  Bi Pin 24,0 .70 .05 c-2F 1,000 .500 .580
7001 7-1-3/4  Bi Pin 24,0 .50 .05 C-2F 2,000 .500 .625
85 T-1-3/4  Wedge Base 28.0 .04 .30 C-2F 7.000 .40 .800
320G 7-1-3/4  Special 28,0 .04 C-2F 4,000 750
327 7-1-3/4  Flange Base  28.0 .34 .04 C-2F 4,000 .375 625
327-15/A5151-1-3/4  Flonge Base  28.0 .34+ 15% .04 C-2F 4,000 .375 .625
327AF 7-1-3/4 _ Flange Base 28,0 .04 C-2F 4,000 .375 .625
327F T-1-3/4  Flange Base 28,0 .34 .04 C-2F 4,000 .375 .625
3278 7-1-3/4  Flange Base 28.0 04 C-2F 4,000 .375 .625
334 7-1-3/4  Mid.Groove 28,0 .34 .04 C-2F 4,000 .375 .625
334L5V 7-1-3/4  Mid. Groove 28.0 .34 .06 C-2F 25,000  .375 .625
335 7-1-3/4 _ Midget Screw  28.0 .34 .04 C-2F 4,000 .516 688
335LSV T-1-3/4  Mid. Screw  28.0 .34 .06 C-2F 25,000 .56 .688
369 1-1-3/4  Mid. Screw 28,0 .34 .04 C-2F 4,000 .516 .625
376 T-1-3/4  Flange Base  28.0 .34 .060 C-2F 25,000  .375 .625
385 7-1-3/4  Flange Base 28,0 .20 .04 C-2F 50,000  .4375  .625
387 7-1-3/4  Flange Base _ 28.0 _ .30 .04 C-2F 7,000 .375 .625
388 T-1-3/4  Mid, Groove 28.0 .30 .04 C-2F 7,000 .375 625
399 T-1-3/4  Mid. Screw 28,0 .30 .04 C-2F 25,000 .688
1729/D 7-13/4  Unbased 28.0 .34 .04 C-2F 4,000 .520
1749 T-1-3/4  Unbased 28.0 .34 .06 C-2F 25,000 .520
1762/D/U___1-1-3/4  Unbased 28.0 .34 .04 C-26 4,000 .520
1764/D/U  1-1-3/4  Unbased 28.0 .34 .04 C-2F 4,000 .520
17645V T1-1-3/4  Unbased 28.0 .34 .06 C-2F 25,000 .520
2148/D T-13/4  Unbosed 28,0 .34 .04 C-2F 4,000 .520
2185/D/U  T1-1-3/4  Unbased 28.0 .15 .04 C-2F 20,000 .520
2187/0/U  T1-1-3/4  Unbased 28.0 .30 .04 C-2F 25,000 .520
2312 T-1-3/4  Bi Pin 28.0 .34 .04 C-2F 4,000 .500 ,625
231205 1-1-3/4  BiPin 28.0 .34 .04 C-2F 4,000 .500 .625
23126L 7-1-3/4  BiPin 28.0 .34 .04 C-2F 4,000 .500 .625
2312BLPS  T-1-3/4  Bi Pin 28.0 .34 .04 C-2F 4,000 .500 625
2314 1-1-3/4 _ Bi Pin 28.0 .70 .05 C-2F 1,000 .500 .580
2314PS T-1-3/4 _ Bi Pin 28.0 .70 .05 C-2F 1,000 .500 .580
2314BL T-1-3/4  Bi Pin 28.0 .70 .05 C~2F 1,000 .500 .580
2314BLPS  T-1-3/4  Bi Pin 28.0 .70 .05 C-2F 1,000 .500 .580
2322 T-1-3/4  Bi Pin 28.0 .30 .04 C-2F 7,000 .500 .625
2322P$ 1-1-3/4 _ Bi Pin 28,0 .30 .04 C-2F 7,000 .500 .625
2322681, T-1-3/4  Bi Pin 28.0 .30 .04 C-2F 7,000 .500 .625
23228LPS  T-1-3/4  Bi Pin 28.0 .30 .04 c-2F 7,000 .500 .625
2324 7-1-3/4  Bi Pin 28.0 .34 .04 C-2F 4,000 .500 .625
2325 T-1-3/4  Bi Pin 28.0 .34 .04 C-2F 4,000 .500 .625
2327  T1-1-3/4_ BiPin 28.0 .70 .05 C-2F 1,000 .500 .625
2328 T-1-3/4  Bi Pin 28.0 .70 .05 C-2F 1,000 4375 625
2342 T-1-3/4  Bi Pin 28.0 .30 .04 C-2F 25,000 .625
7327(2312) T-1-3/4  Bi Pin 28.0 .34 .04 C-2F 4,000 .500 .625
7341 T-1-3/4  Flonge Base  28.0 .65 .065 C-2F 5,000 .375 .625
7355 T-1-3/4  Mid. Groove  28.0 .20 .04 C-2F 50,000 .625
7356 T-1-3/4  Mid, Groove 28.0 .65 .065 C-2F 5,000 -500 .625
7374 T-1-3/4 B Pin 28.0 .20 .04 C-2F 50,000 .625
7387(2322) 1-1-3/4  Bi Pin 28.0 .30 .04 C-2F 7,000 .500 .625
7876 T-1-3/4  Bi Pin 28.0  .340 .060 25,000 625
8361 1-1-3/4  Unbosed ___ 28,0 .65 065 C-2F 5,000 520
8369 T-1-3/4  Mid Screw 28,0 .45 .065 C-2F 5,000 516 688
8384 1-1-3/4  Mid. Screw 28,0 .20 .04 C-2F 50,000 688
7376 1-1-3/4  BiPin 28.0 .65 065 C-2F 5,000 625
1918 T-1-3/4  Unbased 32.0 .30 .04 C-2F 20,000 .520




T

SUBMINIATURE LAMP SPECIFICATIONS GUIDE
Tamr. = = — AVG.,  FfILA-  AVG. __ M.O.L.
NO. 8ULB BASE VOLTS  MSCP AMPS MENT  LIFE HRS SPOT {ins)
252 GTL-1-3/4 Flonged Base 2,5 .350 C-2R 10,000 A ,687 ‘i
253 GTL-1-3/4 Grooved Base 2.5 .350 C-2R 10,000 A 687
253X GTL-1-3/4 Grooved Base 2.5 .350 C-2R 10,000 B .687
261 GTL-1-3/4 Grooved Base 2.5 .350 C-2R 10,000 C .687
2124/D GTL-1-3/4 Unbased 2.5 .350 C-2R 10,000 E L5625
2136/D/U  GTL-1-3/4 Unbased 2.5 .350 C-2R 10,000 D .5625
2140/D GTL-1-3/4 Unbased 2.5 .350 C-2R 10,000 F .5625
1212 1L-3/4 Unbosed 5,0 .00 C-2R 100, 000 .250
1425 TL-3/4 Unbased 5.0 115 C-2R 40,000 .250
3909 TL-3/4 Flanged Base 5.0 .15 C~2r 40,000 363
3910 TL-3/4 Flonged Base 5.0 .0&0 C-2R 100,000 .363
7-7909 TL-3/4 Bi Pin 5.0 115 C-2R 40,000 .380
7-7910 TL-3/4 Bi Pin 5.0 040 C-2R 100,000 .380
1284 TL-1 Unbased 1.5 075 C-2R 16,000 .300
8-1285 TL-1 Flanged Base 1,5 075 C-2R 16,000 425
7-7908 TL=1 8 Pin 1.5 ,075 C-28 16,000 460
1283 TL-1 Unbased 5.0 060 C-2R 100,000 .300
1413 TL-1 Unbased 5.0 075 C-2R 16,000 .300
1415 TL-} Unbased 5.0 115 C-2R 40,000 .300 [
8-1418 Ti=1 Flanged Base 5.0 BRE] C-2R 40,000 . 425
3905 TL-1 Flanged Bose 5.0 .040 C-2R 100,000 425
3906 TL-1 Flanged Base 5.0 .075 C-2R 16,000 .425
7-7905 TL-1 B Pin 5.0 .060 C-28 100,000 .460 |
7-7904 TL-1 Bi Pin 5.0 075 C-2R 16,000 . 460 ‘
7-7907 TL-i Bi Pin 5.0 .H5 C-2R 40,000 460 |
L
8-358 TL-13 Midget Screw 2.5 .200 C-2R 500 .610
8-454 TL-13 Unbased 2.5 .200 C-2R 500 489
B-455 TL-1! Flanged Base 2.5 .200 C-2R 500 610 |
7-3920 TL-1% B Pin 2.5 ,200 C-2R 500 .574
8-3920 TL-1} Groove Base 2.5 .200 C-2R 500 574 |
8-359 TL-1} Midget Screw 6.0 200 C-2R 500 .610
8-468 TL-1t Unbased 6,0 __:200 C-2R 500 A9 |
8-469 TL~13 Flonged Base 6.0 .200 C-2R 500 610
7-3921 TL-1} Bi Pin 6.0 .200 C-2R 500 574 |
8-3921 TL-1! Groove Base 6.0 200 C-2R 500 574 |
8-363 TL-13 Unbesed 28,0 040 C-2F 1,000 469 |
8-354 TL-13 Midget Screw  28.0 040 C-2F 1,000 .610
8-904 TL-1} Flanged Bose 28,0 .040 C-2F 1,000 .610 [
7-3219 TL=12 Bi Pin 28.0 .040 C-2F 1,000 .574
8-3%919 TL-13 Groove Base 28.0 040 C-2F 1,000 574 [
177/D TL-1-3/4  Unbased 2.5 .37 C-2R 15 .545
1861/D TL1-3/4 Unbased 2.5 .30 C-2R 15 545
2101/D TL-1-3/4  Unbased 2.5 .300 C-2R 15 .545
8229 TL-1-3/4  Midget Screw 2.5 .350 C-2R 10,000 C .688
7-374 TL-1-3/4  Bi Pin 2.5 .350 C-2R 10,000 c 625
8-373 TL-1-3/4 Grooved Base 2.5 .350 C-2R 10,000 C .625
8-374 TL-1-3/4 Unbased 2.5 .350 C~2R 10,000 c .500
8-3374 TL-1-3/4 Flanged Base 2.5 .350 C-2R 10,000 c 625
3901 TL-1-3/4 Grooved Base 5.0 .220 C-2R 10,000 .625
8426 TL-1-3/4 Unbased 3.0 .220 C-2R 10,000 500 |
8-443 TL-1-3/4 Flonged Base 5.0 .220 C-2R 10,000 .625
8-3426 TL-1-3/4 Midget Screw 5.0 220 C-2R 10,000 688
7-7426 TL-1-3/4  Bi Pin 5.0 220 C-2R 10,000 .625
3902 TL-1-3/4 Midget Screw 14,0 .080 C-2F 1,000 .688
3903 TL-1-3/4 Flanged Base 14,0 .080 C-2F 1,000 625

18




SUBMINIATURE LAMP SPECIFICATIONS GUIDE
_—_,___—__’_————-——-ﬂ—‘:_-_——“'——uﬂ—_——‘—'-
LAMP AVG, ETLA~ AVG, M.O.L
NO. BULB BASE  VOLTS MSCP AMPS MENT  LIFE HRS (ins)
3904 TL-1-3/4 Grooved Base  14.0 080 C-2F 1,000 .625
8281 TL-1-3/4  Unbased 14.0 .080 C-2F 1,000 .500
7=-7903 TL-1-3/4 Bi Pin 14,0 .080 C-2F 1,000 625
B-1304 TL-2=-3/4 Unbased 6.3 350 C-2R 250 B2
8-503 TL-2-3/4 Boyonet 6.3 ,350 c-22 250 1.000
SUBMINIATURE LAMP SPECIFICATIONS GUIDE INDEX
TAMP LAMP [ARP AP
| NO. PAGE | NO. PAGE | NO. PAGE | NO. PAGE
2 6 344 14 640 1 1738/D 12
| 30 6 345 13 646 N 1738AFD 12
32 9 346 15 673 10 1739/D 13
| 37 15 348 15 679 7 1749 16
72 6 349 13 680 7 1762/D/U 16
73 15 350 13 680AS15 7 1764/D/U 16
74 15 367 14 480R 7 176415V %
85 16 367X 14 682 7 1767 "
103-99 6 368 n 6824515 7 1768 13
177/D 17 369 16 482R 7 17681 13
25 n 370 15 683 7 1769 12
252 17 371 10 683A515 7 1775 13
; 253 17 373 15 %83k 7 1783 )
253X 17 375 12 685 7 1784/D 13
261 17 376 16 685AS15 7 1784L 13
266 b 377 13 685R 7 1784A510 13
f 268 " 378 13 698 1 1861/D 17
[ 320G 16 379 13 709 14 1869/D 14
323 10 380 13 713 8 1918 T3
| 3238 10 381 13 713A815 8 2002/D 15
324 10 382 15 713R 8 2022 8
325 10 383 15 714 8 2037 13
326 10 385 16 714A515 8 20390 13
327 16 386 15 714R 8 2041 15
327-15/A515 % 387 16 715 ) 2101/D 17
327AF 16 388 16 715A515 8 2102/D 15
327F 16 389 14 715R 8 2107/D 14
327R 16 390 12 718 8 2112/D 13
| 328 13 | 293 15 | 7184815 8 2114/D 1
|| 32BAS10 13 94 14 718R 8 2119/D 11
| 328ASIS 13 757 7 930 5 PAVLY() 18
328R 13 398 13 931 8 2128 7
328X 13 399 16 932 8 2129 n
329 10 457 15 933 8 2135 10
330 15 459 15 1189 10 2136/D/U 17
330R 15 515/D 10 1190 10 2139D 10
331 n 518 12 191 10 2140/D 18
| 334 6 541 10 1212 17 2148/D 16
| 334L5V 16 580/0 10 1283 17 2149/D 14
335 16 582 10 1284 17 2156 12
335LSV 16 583/D 10 1413 17 2158/D 12
336 15 583DX 10 1415 17 2160/D 15
337 13 585 10 1425 7 2162/D 15
338 12 627 N 1569/D 14 2169/D 12
339 12 628 10 1705/D 15 2171/D 12
341 12 632 n 1728/D T 2174/D 15
342 13 634/D n 1729/D 16 2176/D 15
343 1" 637 10 1730/D 13 2178 14

19




SUBMINIATURE LAMP SPECIFICATIONS GUIDE INDEX

TAMP TANP (AMP TANP =
NO. PAGE | NO. PAGE | NO. PAGE | NO. PAGE
2179/D 14 2312 16 3584 10 7022 8
2180/D 14 2312P5 16 3585 10 70224515 8
2181/D 14 23128L 16 3810 & 7090 6
2182/D 15 23128LPS 16 3811 6 7093 6
2184/D N 2313 16 3501 17 7094 6
2185/D/U 16 2313P5 16 3902 17 709 3
2187/D/U 16 231361 16 3503 17 7097 6
2190/D 14 2313BLPS 16 3904 17 7100 6
2191/D 13 2314 16 3905 17 7101 6
2192/D 15 2314PS 16 3906 . 17 7102 6
2200,/D 12 231461 16 3909 17 7112 3
2203/D 12 23158LPS 16 3910 177 7112A815 6
2204/D 14 2315 13 6022 8 7113 B
2208/D 12 2316 15 4022A515 8 71134515 6
2235D 10 2317 15 6150 8 7114 6
2236D 12 2319 14 6151 8 7114A515 3
2301 n 2319pS 14 8152 8 7115A815 6
2301P5 i1 231961 14 4153 6 7116 6
2301BL 1 2319BLPS 14 6180 8 7116A515 6
2301BLPS n 2321 15 6183 6 7117 6
2302 2 2322 16 &N ) ARF: i
2302PS 12 2322PS 16 6212 8 7118A515 6
23028L 12 232281 16 6801 8 7119 6
2302BLPS 12 23228LPS 16 6801AS15 8 7121 6
2303 12 2323 13 | egolR 8 7122 6
2303P5 12 2324 16 6802 8 7123 3
230381 12 2325 16 6802AS$15 8 7131 8
2303BLPS 12 2327 16 6802R 8 7131A515 8
2304 12 2328 16 6803 6 713IR 8
2304PS 12 2332 15 4803AS15 6 7132 8
2304BL 12 2332P5 15 5803R 3 7132A515 8
2304BLPS 12 23328L 15 6804 8 7132R 8
2305 13 2332BLPS 15 6804AS15 8 7133 6
2305P5 13 2335 15 6804R 8 7133R 6
230581 13 2337 14 6805 6 7134 8
24058LPS 13 2339 15 4805A515 6 7135 3
2306 13 2340 14 6806 8 7135A815 6
2306PS 13 2340PS 14 6807 8 7151 8
2306BL i3 234081 14 6808 8 7151AS15 9
2306BLPS 13 2340BLPS 14 6809 8 7151R 9
2307 14 2341 16 6831 8 7152 9
2307P$ 14 2342 16 6831A515 8 7152A515R 9
23078L 14 2382 i5 6831R 8 71524815 9
2307BLPS 14 3022 8 6832 8 7152R 9
2308 14 3102 6 68324515 8 7153 6
2308P5 2 3149 12 6832R 8 7153A815 %
230881 14 3150 12 4833 8 7153R 6
2308BLPS 14 3151 12 6833A515 8 7154 9
2309 14 3152 12 6833R 8 7154A815 9
2309PS 14 3153 12 6834 8 7155 6
23098L 14 32N 8 6834AS515 8 71554515 P
23098LPS 14 3225 7 6835 6 7200 7
2310 15 3229 7 68354515 6 7201 7
2310PS 15 3515 10 6838 10 7202 7
23108L 15 3516 10 5838A525 10 7203 7
2310BLPS 15 3518 10 6839 10 7204 7
2311 15 3580 10 68394525 10 7205 7
2311PS 15 3581 10 7001 16 7206 7
2311BL 15 3582 10 7003 15 7207 7
23118LPS 15 3583 10 7017 7 7208 7

20



SUBMINIATURE LAMP SPECIFICATIONS GUIDE INDEX — — ]
LAMP NQ. PAGE_]_ 1L AMP NO, PAGE [ LAMPNO. PAGE LAMPNO, PAGE |

7209 9 7303 10 7376 16 8538 6

7210 9 7304 10 7377 14 8541 1

721 9 7305 10 7380(2340) 14 8543 11

7212 ¢ 7309 11 7381(2319) 14 8551 11

7213 9 7312 12 7382(2332) 15 8552 n

7214 9 7313 12 7387(2322) 16 8553 i

7215 9 7314 12 7459 15 8587 )

7216 9 7315 12 7515 10 8601 7

7218 9 7316 12 7580 10 8502 9

7219 9 7317 12 7583 10 8405 9

7220 9 7318 12 7628 11 8605 T

' 7221 10 7319 12 7632 11 8607 1

7222 10 7320 14 7637 10 8408 11

7225 7 7321 14 7646 1 8409 11

5 7224 7 7323 14 7650 1 8410 i1

7227 7 7325 14 7651 n 8623 n

7228 7 7326 15 7652 11 8627 11

7229 7 7327(2312) 16 7680 9 84628 11

7230 Fa 7328(2306) 13 7480A815 9 8431 10

7231 7 7329 12 _7683 9 8632 1

7232 7 7330(2310) 15 7683A515 7 8635 T

7233 9 7331 12 7714 9 8636 10

7234 9 7332 12 7715 9 8437 10

7235 9 7333 13 7732 7 8439 "

7236 9 7334 13 7810 & 8640 i1

7237 ) 7335 13 7811 & ~ 8641 10

7238 9 7336 13 7838(2303) 12 8644 8!

7239 9 7337 13 7839 10 8645 N

, 7240 9 7338 14 7868 12 8645 1

T 7241 9 7341 16 7876 15 8647 10

— 7242 10 7343 12 7931(2301) 11 B&50/D 11

7243 10 7344 14 7945(2305) 13 8651/D 11

7244 7 7345 12 7968(2302) 12 8652/D 11

7245 7 7346 13 8022 9 8654 11

7246 7 7347 13 8095 9 84655 10

7247 7 7348 13 8095 9 8456 10

7248 7 7349 (2307) 14 8097 9 8657 11

7249 7 7349A515 14 8098 9 B&&D 11

7250 9 7350 13 8099 10 8661 n

7251 9 735) 14 8102 7 8562 11

7252 7 7352 14 B111 9 84863 12

7253 7 7353 14 8112 9 86464 13

7254 7 7354 15 81562 15 8666 7

7255 7 7355 16 8175 9 8649 N

7255 7 7356 16 8179 9 8671 12

7257 7 7357 12 8229 17 8687 13

7259 7 7359 12 8270 & 8491 14

7280 7 7360 13 8281 18 84692 14

7261 7 7361 13 8350 14 8493 12

7262 9 7362 13 8361 16 8699 12

7263 [ 7363 13 8342 15 8703 12

7265 9 7384 14 8349 16 8704 12

| 7286 9 7366 13 8383 é 8705 13

7267 9 7367(2309) 14 8384 14 87056 13

' 7248 ? 7348 14 8425 15 8708 14

7270 9 7349 14 8424 17 8711 7

QJ 7271 9 7370(2311) 15 8437 15 8729 9

. 7272 b 7371 15 8515 10 8732 7

7274 ? 7373 15 8534 b 8784 13

| 7301 10 7374 16 8536 15 8798 7

| 7302 10 7375 12 B537 & 8805 13

‘ 2]




| SUBMINIATURE LAMP SPECIFICATIONS GUIDE INDEX

LAMP LAMP | LAMP | LAMP
NO, PAGE | NO., PAGE | NO, PAGE NO, PAGE
8816 10 7-3921 17 8-358 17 8-503 18
8828 7 7-7425 17 8-359 17 8-904 17
8846 7 7-7903 18 8-353 17 8-1285 17
8910 7 7-7905 17 8-364 17 8-1418 17
8918 15 7-7906 17 8-373 17 8-3374 17
8944 14 7-7907 17 8-374 17 8-3426 17
8913 7 7-7908 17 8-443 17 8-3919 17
7-7909 17 8-454 17 8-3920 17
7-374 17 7-7910 17 8-455 17 8-3921 17
7-3919 17 8-448 17
7-3920 17 8-304 18 8-459 17

22




guides and manuals
available from Lake Engineering..

LG970 GL74

[(3 other
|

i LICNCNg
Seleomon speSiesrions
Guce He

&

LM

PITLT
lampholders and brackets

flitesald

LAKE ENGINEERING CC LIMITED
§ORANYILLE RD SCARBOROUGH OnTAR]

| TL72
|

Minfature and Sealed
Beam Lamps
Specitications

Telephone Lamp
Specifications

LAKE ENGINEERING CO LIMITED

LAKE ENGINEERING CO LIMITED
T2 MANVLLE RD BCAMBOADUEH BHTARS 123 MANVILLE AD  + SCAAADAQUGH & EBNTARID




